THeFEMBRERITRFMREEEAR (RIK2)

IEfEERUVE R
1. RITEEZRVINIZEDIHS (FRAAE:100) XEZS 45 x 25/
BREE = =% 1E fi# B i BlREE & &% il 1E fi# Bt =
(1) J.L 4 (14) I 4
(2) 7 4 (15) I 4
(3) 7 4 (16) I 4
(4) I 4 (17) 7 4
(5) 1 4 (18) P 4
(6) 4 4 (19) P 4
(7) T 4 (20) 4 4
(8) I 4 (21) 7 4
(9) 7. 1. T 4 (22) 7. A.2. T 4
(10) P 4 (23) P 4
(11) ) 4 (24) P 4
(12) 7 4 (25) A 4
(13) 7. A4.7. L 4
2. MRATERNIR, EELIFR (BEmEET:928) XBLm 4= X 23/
BREEE E% 1Efi [t BREEE E% IEfE [iTa

(1) P 4 (13) 7 4
(2) I 4 (14) I 4
(3) ) 4 (15) A 4
(4) 7 4 1 (16) 7 4
(5) 1.7.L 4 (17) 7 4

1 (6) P 4 (18) A 4
(7) T 4 (19) T 4
(8) I 4 (20) P 4
(9) T 4 2 4 4
(10) 7.L 4 3 I 4
(11) 7 4 4 ) 4
(12) T 4
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